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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper,

2. There are eight questions in the question paper.
Answer any six questions.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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1. Explain the steps involved in the estimation of GDP

by income approach. How are the three methods of

measuring national income reconciled? (15)
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Derive Aggregate demand curve. Explain the reasons

for its downward sloping. . (15)
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Explain the money market equilibrium. Explain the

mechanism of how a decrease in money supply affects

the rate of interest in the money market. (15)
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Explain Fishers’ Quantity Theory of Money. Given
the QTM, assume thaf the income is 1000 units and
money supply is 400 units. Also assume that the
velocity of circulation of money is 5. Calculate the

aggregate price, (15)
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5. (i) Explain the effect of change in fiscal policy on

the equilibrium level of income and output,

(i) Distinguish between budget surplus and fy]
employment budget surplus, which one is more

useful measure. k (7,8)
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Suppose you have the following information about a

three sector closed economy -

Consumption C = 20+0.8Y,
Investment I =50
Tax T =10

Government Spending G =20

(a) Find equilibrium level of national income.
(b) Find equilibrium level of consumption and saving.
(c) Show equality of leakages and injections.

(d) Calculate equilibrium level of national income when

tax revenue is increased by 10. (4,4,4,3)
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|qud C = 20+0.8Y,
EEH I = 50
g T =10
W G =20
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7. Define money multiplier. Explain how the creation of

credit by commercial banks can have a multiplief

(15)

effect on the money supply in the economy.
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- 8. Write short 110teé on any three :— (5%3)
(a) Fiscal Policy

(b) Monetary Policy

(c) Quantity Theory of Money

(d) Macroeconomics issues

(e) Consumption function
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